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9+1=1
05+1=
62+1=
36+1=
7

7+1=
84+1=
53+1=
48+1=
91+1=

2



Вычисли значение сумм, используя правило перестановки слагаемых.

1 + 9 
=1 + 5 
=1 + 2 
=1 + 6 
=

1 + 1 
=1 + 7 
=1 + 4 
=1 + 3 
=1 + 8 

=

9+1=1
05+1=6
2+1=3
6+1=7

2
7+1=8
4+1=5
3+1=4

8+1=9



1 + 0 
=0 + 1 
=

1
1



Сложение 
числа 2 с 

однозначным 
числом
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2 + 1 
=

1 + 2 
=

3



Вычисли значение сумм, используя правило перестановки слагаемых.

1 + 2 
=6 + 2 
=3 + 2 
=7 + 2 
=4 + 2 
=8 + 2 
=5 + 2 
=9 + 2 
=

2 + 1 = 
32 + 6 = 
82 + 3 = 
52 + 7 = 
92 + 4 = 
62 + 8 = 
102 + 5 = 
72 + 9 = 
11



8 – 2 
8 – 6 

= 6 
= 2 



- Я узнал …
- Я понял …
- Я смог …
- Меня удивило …
- Мне хочется …

Рефлексия



Самооценка



Молодцы, дети, вы сегодня очень хорошо поработали


